Math 251 - Differential Equations

ASN 6
Due Tue Mar 31 2015

1. Find the Laplace transform of

t+2 <t<l1

fry=Jtt2 05t

3, t>1

2. Determine
1 s
£ {52 —4s + 14}
3. Determine
L {t*cos(2t)}
4. Determine
1 s+9

(s2 + 8s + 20)?

5. Solve using the Laplace transform:
Y +3y +2y =3¢ y(0)=2, y(0)=1
6. Determine L{f(t)} where f(t) = U(t — 3)sin(2t — 3) .
7. Determine
—4s
r-1 _c

{ 52+ 8s + 12}

8. Solve using the Laplace transform:
y"+4y =sin(t) — U(t — 2m)sin(t), y(0)=0, y'(0)=0

posted Tue Mar 24 2015

p. Lof 1



